SRR TE

I
&l

B U B AS 25

Vo o ' iy
o S EXTN = !
ZhkERR j\;/;;g LLI?EE_
H3
o g . e :
gg B A g o % M % =] g = g gg ?B % Z‘“‘é g Fiiﬁ%ﬁf?fﬂ;le Positiﬁmf:ifgi{rjw hole Witrfrtgfﬁ% hole § % §
@ s| T a — =3 N — S| E
& 2|72 Te g c° gl >|malagl C of Fe ciwe |L2|Es
g gl ¢ sl T | > 2t sl = R s |mo|EE
S Bz o |F |® |gS|mg 0 |ES® |mg| 0 st z
g & g = °
D1 Dz |dt N F Hi |Hz  |Hs Na d2 |ds dh No © K |a+ |n & Mxp a +A B
1 |24080-44xv 80 | 79 | 44 | 24 | 8 [1530[120| 20 | 6 | 60 | M8 [110| 88 | 4 | 55 |30 | @2 | 6 | 60 [Mex125| 2 | 1.8
2 |20100-40xV 100 | 98 | 40 [ 20 | 9 |1837|140]| 34 | 6 | 60 | 66 [11.0| 60| 3 | 60 | 30| 8 2 | 60 | M8x1.25 [ 1.37 [1.22
3 [24100-40xv 100 | 98 | 40 | 24 | 8 |1830|140]| 34 | 6 | 60 | 66 [11.0| 60| 3 | 60 | 30 | 8 2 | 60 | Mex1.25| 1.3 [1.15
4 |24120-60xV 120 | 118 | 60 | 24 | 8 |1830|140]| 34 | 6 | 80 | 66 [110| 60| 4 | 80 | 30| 8 2 | 80 | Mex125| 1.3 [1.15
5 [30120-60xV 120 | 118 | 60 | 30 | 7 |193|140]| 34 | 6 | 80 | 66 [110| 60| 4 | 80 | 30- | 8 2 | 80 |Mex125| 23 | 2
6 |[36140-80xV 140 | 138 | 80 | 36 | 11 |1852|140]| 34 | 6 [100| 66 [11.0| 60| 3 | 100 ]| 30| 8 2 | 100 | M8x1.25 | 25 | 22
7 |24160-100xv 160 | 158 | 100 | 24 | 9 |21.73|165]| 40 | 8 [ 118 | 90 |140| 80 | 4 | 118 [225| 10 | 2 | 118 | M8x1.25| 255 | 2.3
8 [24180-120xv 180 | 178 | 120 | 24 | 9 |2161|165] 40 | 8 | 140 | 90 [140| 80 | 3 | 140 |225| 8 2 | 140 | M8x1.25 | 1.61 | 1.44
9 [36180-120xv 180 | 178 | 120 | 36 | 9 |21.37|165]| 40 | 8 | 140 | 90 [140| 80 | 3 | 140 |225| 8 2 | 140 | M8x1.25 | 1.37 [ 1.22
10 |40180-120xV 180 | 178 | 120 | 40 | 9 |21.76|165| 40 | 8 | 140 | 9.0 [140| 80 | 3 | 140 |225| 8 2 | 140 | M8x1.25 | 1.76 | 1.57
11 [24200-120xv 200 | 198 | 120 | 24 | 9 |2163[165| 40 | 8 | 150 | 9.0 | 140]| 80 | 4 | 150 |225| 8 2 | 150 | M8x1.25 | 1.63 | 1.45
12 |36200-120xV 200 | 198 | 120 | 36 | 11 [2152[165| 40 | 8 | 150 | 90 | 140]| 80 | 3 | 150 |225:| 8 2 | 150 | M8x1.25 | 1.52 [ 1.36
13 |72200-120xv 200 | 198 | 120 | 72 | 9 |[20.99|165| 40 | 8 | 150 | 90 | 140]| 80 | 3 | 150 |225:| 8 2 | 150 | M8x1.25 | 0.99 | 0.89
14 |48210-135xV 210 | 208 | 135 | 48 | 13 |21.71|165| 40 | 12 | 165 | 9.0 |140]| 80 | 3 [ 158 | 15 | 10 | 2 | 165 | M8x1.25 [ 1.71 [ 1.53
15 |60250-160XV 250 | 248 | 160 | 60 | 9 |2163|165| 40 | 8 | 195 | 110|175 100| 3 | 195 [225°| 10 | 2 | 195 |M1ox1.50| 1.63 | 1.45
16 |72250-160xV 250 | 248 | 160 | 72 | 11 |21.42|165| 40 | 8 | 195 | 110|175 100| 3 | 195 [2255:| 10 | 2 | 195 |M1ox1.50| 1.42 | 1.27
17 |360250-160xv | 250 | 248 | 160 | 360 | 7 |205|165| 40 | 8 | 195 | 110|175 100| 3 | 195 [2255:| 10 | 2 | 195 | Miox15 | 05 | 0.4
18 |72280-190xV 280 | 278 | 190 | 72 | 11 |21.42|165| 40 | 8 | 222 | 130|202 | 120| 3 | 222 [2255°| 10 | 2 | 222 |M1ox1.50( 1.42 | 1.27
19 |360280-190xv | 280 | 278 | 190 | 360 | 8 | 206 |165| 40 | 8 | 222 | 130202120 4 | 222 [225° 10 | 2 | 222 | Miox15| 06 | 05
20 [60320-210xv 320 | 318 | 210 | 60 | 11 [30.46| 255 58 | 10 | 258 | 13.0 | 202 | 120 | 4 | 258 | 18 | 12 | 4 | 258 |M12x1.75[ 1.46 [ 1.30
21 [72320-210xv 320 | 318 | 210 | 72 | 11 |3074| 255 58 | 12 | 258 | 13.0 | 202 | 120| 3 | 288 | 152 | 12 | 4 | 258 |M12x1.75[ 1.74 [ 1.55
22 [360320-210xv | 320 | 318 | 210 | 360 | 9 |206|255| 58 | 12 | 258 | 13.0 | 202 | 120 | 3 [ 288 | 152 | 12 | 4 | 258 |M12x1.75| 0.6 | 05
23 [48400-280xv | 400 | 398 | 280 | 48 | 13 |31.52| 260 | 60 | 12 | 335 | 13.0 | 202 | 120 3 [ 335 | 15 | 12 | 4 | 335 |M12x1.75) 1.52 | 1.36
24 |60400-280xv | 400 | 398 | 280 | 60 | 15 |31.82| 260 | 60 | 12 | 335 | 13.0 | 202 | 120 3 [ 335 | 15 | 12 | 4 | 335 |M12x1.75] 1.82 | 1.62
25 [72400-280xv | 400 | 398 | 280 | 72 | 13 |31.52| 26.0| 60 | 12 | 335 | 13.0 | 202 | 120 3 [ 335 | 15 | 12 | 4 | 335 |M12x1.75) 1.52 | 1.36
26 |360400-280xv | 400 | 398 | 280 | 360 | 13 | 306|260 | 60 | 12 | 335 | 13.0 | 200|120 | 3 [ 335 15 [ 12 | 4 | 335 |[M12x1.75| 06 | 05
27 |48520-415xv 520 | 518 | 415 | 48 | 15 [31.97| 260 60 | 12 | 450 | 13.0 | 202 | 120| 3 | 450 | 152 | 12 | 4 | 450 |M12x1.75[ 1.97 [ 1.76
28 [72520-415xv 520 | 518 | 415 | 72 | 15 [31.97| 260 | 60 | 12 | 450 | 13.0 | 202 | 120| 3 | 450 | 152 | 12 | 4 | 450 |M12x1.75[ 1.97 [ 1.76
29 [360520-415xv | 520 | 518 | 415 | 360 | 15 [ 308|260 | 60 | 12 | 450 | 13.0 | 202 | 120| 3 | 450 | 152 | 12 | 4 | 450 |M12x1.75| 0.8 | 0.7
30 |60600-480xV 600 | 598 | 480 | 60 | 15 [36.95|29.0| 70 | 12 | 530 | 17.0 | 26.0 | 1600 4 | 530 | 152 | 12 | 4 | 530 |M12x1.75[ 1.95 | 1.74
31 |72600-480xv 600 | 598 | 480 | 72 | 19 |37.28| 290 70 | 12 | 530 | 17.0 | 26.0 | 1600 3 | 530 | 152 | 12 | 4 | 530 |M12x1.75| 2.28 | 2.04
32 [360600-480xv | 600 | 598 | 480 | 360 | 15 | 36 [20.0| 70 | 12 | 530 | 170|260 |160| 3 |530 | 15 | 12 | 4 | 530 [m12x1.75] 1 | 09
33 |72700-560xv 700 | 698 | 560 | 72 | 19 [36.70| 290 70 | 12 | 610 | 17.0| 2600 | 160| 3 |10 | 15 | 14 | 4 | 610 |M12x1.75[ 1.70 [ 1.50
34 |360700-560xv | 700 | 698 | 560 | 360 | 19 | 36 [20.0| 70 | 12 | 610 | 170|260 | 160| 3 |[610 | 15 | 14 | 4 |10 [M12x1.75] 1 | 09
35 [721000-830xv | 1000 | 998 | 830 | 72 | 22 |61.70| 54.5| 120 | 18 | 900 | 17.0 [ 260 160 4 | 900 | 10- | - 4 | 900 |M12x1.75| 1.70 | 1.50
36 [3601000-830xv | 1000 | 998 | 830 | 360 | 22 |61.5|545| 120 | 18 | 900 | 17.0 [ 260 [ 160 4 | 900 | 10- | - 4 | 900 |M12x1.75[ 1.75 | 1.4
37 [721200-1000xv | 1200 | 1198 | 1000 | 72 | 22 [71.70| 64.5| 140 | 20 | 1080 | 21.0 | 320 | 200| 4 |[1080| o - 4 | 1080 |M16x2.00| 1.70 | 1.50
38 |[3601200-1000xv | 1200 | 1198 | 1000 | 360 | 22 | 71.6 | 64.5| 140 | 20 | 1080 | 21.0 | 320 | 200| 4 [1080| o° - 4 | 1080 |M16x2.00| 1.6 | 1.5

37 p




